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𝐑𝟎 𝐑𝟏 𝐑𝟐 𝐑𝟑 𝐑𝟐𝟎𝟐𝟎

𝐵(𝑟, 𝜃, 𝜑, 𝑡)
𝐵 =

−𝛻𝑉 𝑉(𝑟, 𝜃, 𝜑, 𝑡)
𝑔𝑛

𝑚 ℎ𝑛
𝑚

𝑉(𝑟, 𝜃, 𝜑, 𝑡) = 𝑎 ∑ ∑ (
𝑎

𝑟
)
𝑛+1

[𝑔𝑛
𝑚(𝑡) cos𝑚𝜑 + ℎ𝑛

𝑚(𝑡) sin𝑚𝜑]𝑃𝑛
𝑚(cos θ)

𝑛

𝑚=0

𝑁

𝑛=1

       (𝑆1)

𝑟, 𝜃, 𝜑 𝑟
𝜃, 𝜑

 𝑎 = 6371𝑘𝑚
𝑃𝑛

𝑚(cosθ)

R𝑛(𝑟) =< B𝑛(𝑟) ∙ B𝑛(𝑟) >= (𝑛 + 1) (
𝑎

𝑟
)
2𝑛+4

∑[(𝑔𝑛
𝑚)2 + (ℎ𝑛

𝑚)2]

𝑛

𝑚=0

               (𝑆2)

𝑟 = 𝑎 = 6371𝑘𝑚 R0

R1 R2 R3
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g/h n m 794ka 785ka 782 ka 779 ka 778 ka 777 ka 776 ka 775 ka 774.7 ka 774.5 ka 774.2 ka 773.8 ka 773.5 ka 773 ka 772 ka 771 ka 770 ka 769 ka 768 ka 765 ka 

g 1 0 33.67 17.72 17.77 9.66 14.43 4.21 5.97 3.31 1.57 0.70 -1.49 -3.31 -6.73 -6.55 -4.57 -5.12 -9.09 -10.91 -16.69 -35.17 

g 1 1 -4.12 0.32 3.59 8.61 5.62 2.44 -0.03 -0.51 -0.63 -0.93 -0.73 0.65 1.65 1.19 -0.83 -0.10 0.29 1.47 -0.49 -1.78 

h 1 1 1.75 -0.47 1.94 6.56 7.98 2.93 1.29 2.10 1.83 1.44 1.47 -0.24 0.35 0.25 -0.22 0.34 -1.61 -1.73 -3.73 -3.59 

g 2 0 0.82 0.38 -0.20 -3.38 -3.66 -3.34 -1.68 -0.41 -0.75 -1.33 -1.30 -1.05 -0.79 -1.36 -0.18 0.30 0.23 -0.08 -0.07 -1.86 

g 2 1 1.58 1.74 3.49 6.77 7.56 4.71 3.45 2.34 2.18 2.64 2.65 2.37 3.33 3.32 1.09 0.78 0.79 1.57 0.47 -0.03 

g 2 2 -0.84 -0.55 -2.06 -4.00 -4.55 -2.27 -1.33 -0.98 -0.71 -0.68 -1.09 -0.89 -0.32 -0.80 -0.52 -0.07 0.02 -0.01 -0.02 0.15 

h 2 1 -0.60 -0.72 -2.81 -4.61 -3.20 -2.40 0.32 0.63 0.88 0.94 0.70 0.46 1.64 1.09 -0.07 0.17 -0.09 -1.14 -0.34 -2.95 

h 2 2 0.86 -0.09 0.84 1.36 0.87 0.60 0.30 -0.73 -0.23 -0.34 -0.34 -0.11 -0.13 -0.04 -0.19 0.11 0.20 0.13 0.19 -0.01 

g 3 0 -0.31 0.04 1.27 1.79 1.89 0.79 0.56 0.84 0.64 0.42 0.27 0.16 -0.07 0.18 0.43 0.40 0.06 -0.30 -0.25 -1.09 

g 3 1 0.30 0.15 -0.21 -0.26 -0.47 -0.47 -0.28 -0.62 -0.53 -0.65 -0.51 -0.20 0.17 0.07 -0.47 -0.31 0.02 0.09 0.21 -0.39 

g 3 2 0.31 0.11 -0.81 -1.64 -1.63 -1.11 -0.63 -0.28 -0.27 -0.09 0.11 0.00 0.34 0.40 -0.08 -0.08 -0.12 0.12 -0.21 0.00 

g 3 3 -0.12 -0.26 -1.06 -2.29 -2.57 -1.20 -0.84 -0.66 -0.54 -0.50 -0.72 -0.71 -0.52 -0.63 -0.35 -0.20 -0.13 -0.15 -0.05 0.30 

h 3 1 -0.11 -0.06 -0.42 -0.42 0.09 -0.55 0.03 0.61 0.45 0.42 0.64 0.51 0.46 0.16 0.33 0.35 0.04 0.02 -0.27 -0.51 

h 3 2 -0.28 -0.20 -0.50 -1.32 -0.79 -0.66 -0.12 0.18 0.04 -0.03 -0.29 -0.67 -0.49 -0.53 -0.36 -0.21 -0.37 -0.76 -0.53 -1.63 

h 3 3 0.31 0.07 0.71 1.31 0.99 0.71 0.45 -0.25 0.00 -0.01 0.03 0.28 0.34 0.34 -0.01 0.01 0.19 0.17 0.35 0.22 

g 4 0 -0.06 0.10 0.90 1.50 1.59 0.78 0.61 0.76 0.65 0.62 0.58 0.51 0.45 0.32 0.45 0.35 0.13 0.02 -0.05 -0.17 

g 4 1 -0.10 0.13 1.07 2.16 2.29 1.31 0.74 0.57 0.44 0.36 0.24 0.14 0.13 0.24 0.08 0.02 -0.07 -0.19 -0.16 -0.55 

g 4 2 0.07 -0.02 -0.50 -0.77 -0.76 -0.50 -0.17 -0.29 -0.20 -0.19 -0.11 0.01 0.17 0.14 -0.13 -0.07 0.06 0.07 0.13 -0.09 

g 4 3 0.05 -0.04 -0.57 -1.33 -1.36 -0.90 -0.54 -0.31 -0.29 -0.26 -0.18 -0.23 -0.18 -0.13 -0.11 -0.05 -0.07 -0.02 -0.11 -0.13 

g 4 4 0.00 -0.08 -0.31 -0.69 -0.84 -0.35 -0.30 -0.28 -0.23 -0.21 -0.28 -0.27 -0.20 -0.21 -0.15 -0.12 -0.07 -0.07 -0.02 0.18 

h 4 1 0.04 -0.06 -0.47 -0.65 -0.60 -0.31 -0.06 -0.06 0.02 0.08 0.14 0.21 0.23 0.21 0.11 0.11 0.12 0.15 0.15 0.30 

h 4 2 -0.06 0.01 0.06 0.04 0.28 -0.14 0.12 0.38 0.29 0.25 0.32 0.26 0.13 0.00 0.25 0.28 0.11 0.06 -0.08 -0.35 

h 4 3 -0.09 0.00 0.26 0.37 0.53 0.27 0.11 0.15 0.03 -0.02 -0.14 -0.32 -0.34 -0.31 -0.18 -0.15 -0.20 -0.30 -0.26 -0.60 

h 4 4 0.10 0.05 0.34 0.69 0.59 0.37 0.26 -0.01 0.07 0.07 0.10 0.20 0.24 0.23 0.03 0.01 0.08 0.07 0.14 0.07 
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ρ(cm3) Vx(km/s) Vy(km/s) Vz(km/s) Bx(nT) By(nT) Bz(nT) T(K) 

5 400 0 0 0 0 -10 105 

𝜌
𝑉𝑥 𝑉𝑦 𝑉𝑧 𝐵𝑥 𝐵𝑦 𝐵𝑧 𝑃𝑇 𝑇

𝜕𝜌

𝜕𝑡
+ 𝛻 ∙ (𝜌𝑢⃗ ) = 0                                                              (𝑆3) 

𝜕(𝜌𝑢⃗ )

𝜕𝑡
+ 𝛻 ∙ [𝜌𝑢⃗ 𝑢⃗ + (𝑃𝑇 +

𝐵2

8𝜋
) 𝐼 −

𝐵⃗ 𝐵⃗ 

4𝜋
] = 𝜌𝑔                                    (𝑆4) 

𝜕𝐵⃗ 

𝜕𝑡
+ 𝛻 ∙ (𝑢⃗ 𝐵⃗ − 𝐵⃗ 𝑢⃗ ) = 0                                                      (𝑆5) 

𝜕𝜖

𝜕𝑡
+ 𝛻 ∙ [𝑢⃗ (𝜖 + 𝑃𝑇 +

𝐵2

8𝜋
) 𝐼 −

(𝑢⃗ ∙ 𝐵⃗ )𝐵⃗ 

4𝜋
] = 𝜌𝑔 ∙ 𝑢⃗                                 (𝑆6) 

𝐼 𝑔 
𝜖

𝜖 =
𝜌𝑢2

2
+

𝑃𝑇

𝛾 − 1
+

𝐵2

8𝜋
                                                        (𝑆7)

𝛾 = 5/3

𝑋 = −224 32 𝑅𝑒 𝑌 = −128 128 𝑅𝑒 𝑍 = −128 128 𝑅𝑒
𝑋 = 32 𝑅𝑒


